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SN FOIME D
Ha: Lo =X 57
el QI ME O (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBEE 263 46,800 57,600 A 10,800
OZ4=4¢(1922.12.310/ ™ &)
30,0003 130K 123 46,800
Lol AZECH] 3,749 3,749 0
< 563
i 3,186
301 YU B A 3,749 3,749 0
< 563
i 3,186
01 MEIBEZE 06z 3,749 3,749 0
OLoIALTEH| X & 3,749
= 563
[ia 3,186
MASTHIOL- Q! A A E ALY 136,875 84,753 52,122
< 18,900
s 117,975
301 et a3z 136,875 84,753 52,122
< 18,900
[ia 117,975
01 MEI2EE 263 136,875 84,753 52,122
Ot =l AABHE AF 136,875
—3g 3,000 x125% 300 112,500
< 15,498
[ia 97,002
-5 3,0003 x125H 65 24,375
= 3,402
s 20,973
fz 3249 XA 42,000 37,800 4,200
< 5,625
s 36,375
307 gl2tol & 42,000 37,800 4,200
< 5,625
s 36,375
10 AL SXAIEEE2EH EX 42,000 37,800 4,200
SRIAER2E & 42,000
< 5,625
[ia 36,375
22" 29 580,680 580,680 0
< 103,984
e 476,696
307 glz2+ol & 580,680 580,680 0
= 103,984
fia 476,696
10 ALSISXAIEEE 22X 580,680 580,680 0
OZ=2g2d9 X 580,680

_46_




2N
X ZH -
L= B

el

% 8 - (A
CHB B () - NRAY - BES e
—d 29 29H| 196,560
[ 39,312
= 157,248
—ZdZ2 g teyl 264,810
= 52,962
= 211,848
—FZ LYl FIH2) 10,500
—FEgaa| 58,550
= 11,710
= 46,840
—FZE2tAH FIHZ2) 50,260
ColdHe A O HA 5,500 5,500
& 1,375
= 4,125
307 QI2t0| ™ 5,500 5,500
< 1,375
= 4,125
10 MBI SXAEEES2IHIEX 5,500 5,500
Ol A N0 A ALY 1,100,000& *5H A 5,500
< 1,375
= 4,125
LOIMEIAIE 2H XA 936,464 953,536
T 655,525
= 280,939
301 dEtEAZ 936,464 953,536
T 655,525
= 280,939
01 AL 2 & & 2352 936,464 953,536
OLQMEALSY U 2L 936,464
& 655,525
= 280,939
MO QIAIE 29X & 544,312 599,730
& 54,431
= 489,881
301 dEtE A= 544,312 599,730
& 54,431
= 489,881
01 AL B & & £33 544,312 599,730
OMIMt=sITANEd2E & sSHEEZ 544,312
< 54,431
= 489,881
COIIINEE Y 35,000 35,000
307 QI2t0| ™ 35,000 35,000
10 MBS AL HESHH X 35,000 35,000
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SN EOIMED
HH: Lol =X ZA
el QI ME O (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLo=x #4am=a 2314
5,000,000 +*HEZ2Y 7ML 35,000
=3 X= 16,660,957 12,752,428 3,908,529
= 14,782,361
< 795,719
s 1,082,877
301 et d =S 16,660,957 12,752,428 3,908,529
= 14,782,361
= 795,719
s 1,082,877
01 MEIBEZE 06z 16,660,957 12,752,428 3,908,529
OJIzH3Xa 16,660,957
= 14,782,361
< 795,719
[ia 1,082,877
LA ESSEEAMHIA 260,066 332,643 ANT2,577
= 182,046
< 31,208
s 46,812
307 21201 A 260,066 332,643 ANT2,577
= 182,046
< 31,208
[ia 46,812
05 RIZt2IEt = 260,066 332,643 ANT2,577
OkolsssegAMlA XA 260,066
= 182,046
< 31,208
i 46,812
LoEsJlEaMdla 199,653 182,000 17,653
= 139,757
< 23,958
s 35,938
101 @14 Hl 197,973 180,000 17,973
= 138,581
< 23,757
i 35,635
04 JIZHHZ2XREES 197,973 180,000 17,973
OelAddl & 244 197,973
= 138,581
< 23,757
[ia 35,635
201 et 1,680 1,000 680
= 1,176
< 201
[ia 303
01 At 22l 500 1,000 A 500
OkossSMUIAASFA 500
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AN FRME Y
HH: Lol =X =X
el QI ME O (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 350
< 60
e 90
03 & AL2 I 1,180 0 1,180
OSHLQIMS A DS L 2Bt 1,180
= 826
< 141
s 213
EIIJFAEA Bl A AHS 12,598 9,408 3,190
= 8,819
< 1,512
s 2,267
307 21201 A 12,598 0 12,598
= 8,819
< 1,512
s 2,267
05 BIZHRI & 3 12,598 0 12,598
OSINIIMALMHI AALS KT & 12,598
= 8,819
< 1,512
s 2,267
LolgRel &s 2,300,630 2,300,630 0
= 1,150,315
< 460,126
s 690, 189
101 @124 dl 86,110 95,920 29,810
= 43,055
< 17,222
s 25,833
04 D12t Z2XREE+ 86,110 95,920 29,810
OLQ YRl D2 Mo 86,110
= 43,055
< 17,222
s 25,833
201 Let24d] 43,320 40,060 3,260
= 21,660
< 8,664
[ia 12,996
01 At 22/l 43,320 40,060 3,260
OoldReIMg 2 43,320
= 21,660
< 8,664
i 12,996
202 o4dl 11,000 3,000 8,000
= 5,500
< 2,200
s 3,300
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SN FOIME D
Ha: Lo =X 57
©: QI MEOHY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 11,000 3,000 8,000
O gReIAME =& 11,000
2 5,500
< 2,200
[ia 3,300
301 et Az 1,990,200 1,993,400 A 3,200
= 995,100
< 398,040
s 597,060
1MIIEESS 1,990,200 1,993,400 A 3,200
OLeldRtel At WX el 1,942,200
= 971,100
< 388,440
[ia 582,660
O=AHLel izl 48,000
= 24,000
< 9,600
s 14,400
307 21201 A 170,000 168,250 1,750
= 85,000
< 34,000
[ia 51,000
06 283 99,940 108,000 A 8,060
OLogReANY 282 99,940
=2 49,970
< 19,988
e 29,982
10 ALSISEXAIEEE2EHEX 70,060 60,250 9,810
OQEIAE AIg2Y 2,250
= 1,125
< 450
s 675
OMZHIE MB2E 40,000
= 20,000
< 8,000
e 12,000
OZs&YE Ag2Yg 18,000
= 9,000
< 3,600
s 5,400
ORIt QUi 2 Mgl 9,810
= 4,905
< 1,962
s 2,943
ColYReI MY =& 1,726,642 820,000 906,642
201 L4l 21,860 0 21,860
01 AL 2tel | 21,860 0 21,860
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SN EOIMED
Hu: Lol =X EA
©: QI MEOHY (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O gReIMg 2 21,860
301 et A3z 1,704,782 820,000 884,782
MIIEE43 1,704,782 820,000 884,782
OLoldXielArd &0 A 2124 dl(F ot 1,675,200
OLolgditelAr B0i B2 29,582
ALIGEY 217,560 217,560 0
< 23,268
[ia 194,292
307 21201 A 217,560 217,560 0
< 23,268
e 194,292
10 ALSISXAIEEE2IHEX 217,560 217,560 0
OAlLIVZEY 29 210,000
= 21,000
s 189,000
OAILIGIZ2Y SAR SE=E 7,560
< 2,268
[ia 5,292
Lol3 29 68,000 60,900 7,100
307 glz2tol & 68,000 60,900 7,100
10 ALSISXAIEEE2EH EX 68,000 60,900 7,100
Okole & AL XI& 37,000
Okeols AHolE=ts XA 3,000
Ot olsl Z+==2X3 29H X 28,000
CQIMEAlL BALA K& 53,520 34,800 18,720
< 16,056
[ia 37,464
307 21201 A 53,520 34,800 18,720
< 16,056
e 37,464
10 ALSISXAIEEE2GHEX 53,520 34,800 18,720
OLQMEANLSAA EE2R2Y 53,520
= 16,056
s 37,464
LO=ERAE JIsELAY 4,500 190,000 A 185,500
= 2,250
< 675
[ia 1,575
402 2I2H X201 M 4,500 190,000 A 185,500
= 2,250
< 675
s 1,575
01 B2t AL E X 4,500 190,000 A 185,500
O=sgstasdl JIsE2ZAY 1,000
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2N
X ZH -
L= B

el

0z
e
0= i

FH 4
e oo
o
>

0z
1]
e
0 Ol

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24
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40,

800
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y

M

5,000

2,500
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4,

000

1,000

GHEH0 KAMEH 2P =X

H X

5,000
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2,500
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4,

000

1,000

ColdoANEE =Y

UL
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A11,244
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M
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10,667
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46,
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A11,244

10 AR SAAEHE2SHIEX
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N
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35,556

10,667
24,889

46,
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A11,244

BHEXI| KA

M

10,650

3,195
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,600

A 1,950

M H
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3,195
7,455

,600

A 1,950

UL

10,650
10,650

3,195
7,455
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A 1,950

COAR B HE K&
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67,143

16,786
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21,807

307 21201 &

UL
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45,
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21,807

10 A SAAEHIES2SHIEX
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M H
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SN EOIMED
Hu: Lol =X EA
el olMEOLE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZEHIIE LA 67,143
22Y 2435 ALY 669,390 0 669,390
301 et a3z 41,000 0 41,000
01 MEIBEE 263 41,000 0 41,000
OZ2Y MEHI &I X3A 41,000
307 glz2tol & 628,390 0 628,390
10 AL SXAIEEE2EH EX 628,390 0 628,390
ozdzd 28z XA 23,700
Odzdg Bs=4 284 N& 592,690
OSY HE3ZY 224 23H N2 12,000
SHEC JtES AL 170,296 0 170,296
101 @144 dl 149,896 0 149,896
04 JIZHHZ2XEES 149,896 0 149,896
OSHEUINFSALG 149,896
— QI H| 22,8503 x17H +251 97,501
— WSl 10,000 17 251 42,670
— 28z 9,725
201 £B-2dH| 20,400 0 20,400
02 =24l 20,400 0 20,400
oz & AEZ 100,000 = 17CH 1201 & 20,400
Losslledul A (RA) 32,400 0 32,400
101 @124 dl 32,400 0 32,400
04 DIt Z2XREES 32,400 0 32,400
OkolssllaNMtla =80l g3
150,000 »18H 1201 & 32,400
F2Y AL SEAY 205,000 0 205,000
= 205,000
307 glz2tol & 195,000 0 195,000
< 195,000
11T M SXALS EX 195,000 0 195,000
OZ2% oot XI& 2,500,000 x78H 195,000
< 195,000
402 RI2EXt20l ™ 10,000 0 10,000
< 10,000
01 It 2 AL B X 10,000 0 10,000
OtANEH HEZZYE JIsEZAY 5,000
< 5,000
OUNY BH2RAAZ2E JIsEZAY 5,000
< 5,000
Lo =EXAE XA 387,253 374,562 12,691
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SA FOMED
Hu: Lol =X =7
el oI AL K& (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 2,376
= 384,877
Losxa 249 379,333 374,562 4,771
307 QI2t01 ™ 379,333 369,562 9,771
05 A2t E = 379,333 369,562 9,771
oko=Xa 249 379,333
LolIsX & SAA X 7,920 0 7,920
= 2,376
= 5,544
307 QI2t0| ™ 7,920 0 7,920
= 2,376
= 5,544
10 M SXAEEES2IHIEX 7,920 0 7,920
OLQ=EX& SAA S8 7,920
= 2,376
= 5,544
HHSHHU (FLUME) 43,476 42,576 900
Jl=23 bl 43,476 42,576 900
Jl2&l 43,476 42,576 900
201 Ypte | 29,376 29,376 0
01 AR 22| bl 15,456 15,456 0
OsAMEXN 7 2,400
O=AI gz 300,000 2 x12& 7,200
OZXU22A =4l A=
7,000 x6 L x4 H x 12 2,016
OEFR=EE 2,640
PN 15,000& x 128 x6 5 1,080
— XX 10,000& *12& x 132 1,560
OMRESE 2Ll 100,000& = 12& 1,200
02 533294l 13,920 13,920 0
O&se=2 400,000& x12& 4,800
OIS Al = 5,000& x12& 60
oRERI 300& *1,0000H 300
O&IHIE & &Hl =&dKXHl
250,000& 12& 3,000
Occtv i & 60,000& *8IH A+ 128 5,760
202 04 b 9,900 9,000 900
01 2LHOHI 9,900 9,000 900
ORM2Y SUHAYI 9,000
O0g e 2= QMEE 900
203 &R =&H| 4,200 4,200 0
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SN EOIMED
HE: HY2IFH (FUME D)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 NI 4,200 4,200 0
ORAN2EYE=AHI 4,200
HRas(=oMen) 230,463 227,682 2,781
HEHHK = 230,463 227,682 2,781
LHEHeH X = 230,463 227,682 2,781
701 JIEtSI HEXTES 230,463 227,682 2,781
01 JIEtSI HEES 230,463 227,682 2,781
OAS=HEEIAH dES 230,463
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